N BF AT WORK - Charging Station

ASSEMBLY INSTRUCTIONS
e

Congratulations on the purchase of your new Signature Series product!

COMPONENTS
Parts in carton A
@ Top Panels -1 pc (B) Shelves - 2pcs (C)Inner Side Panel - 2pcs @ Top Front Panels - 2pcs
—— / ——
(E) Bottom Front Panels - 2pcs (F) Bottom Panel - 1pc (G) Privacy Panel - 1pc

%

Parts in carton B

@ outer Slde Panel - 2pCS @ Duck Feet - 2pcs @ Left Supportlng Bracket - 3pCS @ nght Supportlng BraCket - 3pCS

@ Privacy Panel Bracket - 2pcs @ Power Bar - 4pcs

-

HARDWARE & TOOLS

®) M6*50 Bolt © M6*30 Bolt ®) M6*12 Bolt @ Allen key ® Cam lock
- 4pcs - 8pcs - 72pcs -1pc -4pcs
Q‘mwm)\\\))\))\W @\3\)\\»\)\)\\\\\“‘ @)\W % %
® Cam stud @ Dowel @ Nut \ M6*15 Bolt @ 4.0712 Screws
-4pcs - 12pcs - 4pcs - 16pcs - 8pcs
M % @ R (30 g
@ Adhesive covers ® L-Bracket @ Grommet Tools Required for Assembly
- 8pcs - 16pcs
®) Cam lock

N— O Nu
— QIE @ ® ) I;I\/Ié*15 Bolt

Philips Screw Driver
@ 4.0*12 Screws

AW-60025




NBF *c™

800-558-1010 | www.NBF.com

AT WORK - Charging Station
ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product!

INSTRUCTIONS
STEP 1 STEP 2 ?
N>,
@ Q = ®
8/

STEP 3

STEP 4

AW-60025




AT WORK - Charging Station
NBF ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product!

INSTRUCTIONS

@)

STEP 5 ; STEP 6

V)

STEP 7 _@ STEP 8

@

AW-60025



AT WORK - Charging Station
NBF

ASSEMBLY INSTRUCTIONS
 ——

Congratulations on the purchase of your new Signature Series product!

INSTRUCTIONS

STEP 9 STEP 10

STEP 11 STEP 12

|

AW-60025



AT WORK - Charging Station
NBF

ASSEMBLY INSTRUCTIONS
 —

Congratulations on the purchase of your new Signature Series product!

INSTRUCTIONS

STEP 13 STEP 14

STEP 15 STEP 16

AW-60025




SIGNATURE AT WORK - Charging Station
NB — SERIES — ASSEMBLY INSTRUCTIONS
e

800-558-1010 | www.NBF.com
Congratulations on the purchase of your new Signature Series product!

INSTRUCTIONS

STEP 17 COMPLETED

AW-60025




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

